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BEt 2547 | 196 15.823 15,5256 52 175 il 5,943 5.840 18 73 12 9.880 9,685 34 102 59 98.1 0.3 1.1 0.4 98.3 0.3 12 0.2 98.0 0.3 1.0 0.6
1| B %R LS 24 B BT 88 9 705 694 6 2 3 252 250 1 0 1 453 444 5 2 2 98.4 0.9 03 0.4 99.2 0.4 00 0.4 98.0 1.1 04 0.4
2| S E R AT 17 10 1.302 1.301 1 0 0 518 518 0 0 0 784 783 1 0 0 99.9 0.1 00 0.0 100.0 0.0 00 0.0 99.9 0.1 00 0.0
3EBHREIRERRA 123 6 851 809 19 0 23 346 341 5 0 0 505 468 14 0 23 95.1 2.2 00 27 98.6 1.4 00 0.0 927 2.8 00 4.6
A ESHRERREE/\ERT 108 9 924 912 12 0 0 334 322 12 0 0 590 590 0 0 0 98.7 13 00 0.0 96.4 3.6 00 0.0 100.0 0.0 00 0.0
5[EBHREIRERE AT 89 4 224 214 10 0 0 56 56 0 0 0 168 158 10 0 0 95.5 45 00 0.0 100.0 0.0 00 0.0 94.0 6.0 00 0.0
6|tk B IR B 8 F1 T AT 6.8 9 855 855 0 0 0 340 340 0 0 0 515 515 0 0 0 100.0 0.0 00 0.0 100.0 0.0 00 0.0 100.0 0.0 00 0.0
7| B ESIRES S FAT 15 2 45 45 0 0 0 13 13 0 0 0 32 32 0 0 0 100.0 0.0 00 0.0 100.0 0.0 00 0.0 100.0 0.0 00 0.0
8| BB IRFSD H AT 111 8 1.062 1.059 0 2 1 401 401 0 0 0 661 658 0 2 1 99.7 0.0 0.2 0.1 100.0 0.0 00 0.0 99.5 0.0 03 0.2
9| EHREREBRHAT 189 | 13 1.546 1.546 0 0 0 583 583 0 0 0 963 963 0 0 0 100.0 0.0 00 0.0 100.0 0.0 00 0.0 100.0 0.0 00 0.0
10| 228 & 4k B /5 R R AT 80 9 447 414 0 26 7 164 164 0 0 0 283 250 0 26 7 92.6 0.0 58 16 100.0 0.0 00 0.0 88.3 0.0 9.2 2.5
11| 225N B RS = H T AT 89 5 350 345 0 5 0 145 144 0 1 0 205 201 0 4 0 98.6 0.0 1.4 0.0 99.3 0.0 07 0.0 98.0 0.0 20 0.0
12| ZZRRE IR B S e {— BT 108 15 431 430 0 1 0 147 147 0 0 0 284 283 0 1 0 99.8 0.0 0.2 0.0 100.0 0.0 00 0.0 99.6 0.0 04 0.0
13| 24N SRS K BHT 55 5 550 542 0 5 3 219 218 0 1 0 331 324 0 4 3 98.5 0.0 09 0.5 99.5 0.0 05 0.0 97.9 0.0 12 0.9
14| PR E IR A # BT 30 4 144 144 0 0 0 80 80 0 0 0 64 64 0 0 0 100.0 0.0 00 0.0 100.0 0.0 00 0.0 100.0 0.0 00 0.0
15| 22 5044 & e /5 8 EI AT 15 2 49 49 0 0 0 24 24 0 0 0 25 25 0 0 0 100.0 0.0 00 0.0 100.0 0.0 00 0.0 100.0 0.0 00 0.0
16| ZZ AR S IR F S H -+ )1 BT 55 7 279 279 0 0 0 110 110 0 0 0 169 169 0 0 0 100.0 0.0 00 0.0 100.0 0.0 00 0.0 100.0 0.0 00 0.0
17| )1 #2655 FE AT T 40 7 208 207 0 0 1 93 93 0 0 0 115 114 0 0 1 99.5 0.0 00 0.5 100.0 0.0 00 0.0 99.1 0.0 00 0.9
18] bR EHRES T )IIET 50 7 229 228 0 1 0 113 113 0 0 0 116 115 0 1 0 99.6 0.0 04 0.0 100.0 0.0 00 0.0 99.1 0.0 09 0.0
19| Ah—Y O R SR EH EIRAT 110 6 810 810 0 0 0 245 245 0 0 0 565 565 0 0 0 100.0 0.0 00 0.0 100.0 0.0 00 0.0 100.0 0.0 00 0.0
20| BBIRIA & IR LS (9 Z BT 307 8 643 557 0 il 15 212 170 0 42 0 431 387 0 29 15 86.6 0.0 1.0 2.3 80.2 0.0 19.8 0.0 89.8 0.0 6.7 3.5
21 | AR AR #2 & e B /5 7] 5 AR BT 74 3 583 581 2 0 0 209 209 0 0 0 374 372 2 0 0 99.7 0.3 00 0.0 100.0 0.0 00 0.0 99.5 0.5 00 0.0
|__22|BBIR & R HS % T BT 721 10 325 309 0 6 10 130 124 0 0 6 195 185 0 6 4 95.1 0.0 18 3.1 95.4 0.0 00 4.6 94.9 0.0 31 2.1
23| BEREBDIHFV BT 8.2 4 619 618 0 1 0 215 215 0 0 0 404 403 0 1 0 99.8 0.0 0.2 0.0 100.0 0.0 00 0.0 99.8 0.0 0.2 0.0
24|+ BSHA S IR B 2 AT 9.7 7 802 796 0 1 5 361 356 0 0 5 441 440 0 1 0 99.3 0.0 01 0.6 98.6 0.0 00 14 99.8 0.0 0.2 0.0
|__25| B & RIS 2RI AT 107 ] 11 878 871 2 5 0 313 313 0 0 0 565 558 2 5 0 99.2 0.2 06 0.0 100.0 0.0 00 0.0 98.8 0.4 09 0.0
| 26| #IpE 44 & {k B /5 8 E AT 87 5 202 191 0 9 2 46 46 0 0 0 156 145 0 9 2 94.6 0.0 45 1.0 100.0 0.0 00 0.0 92.9 0.0 58 13
27| SIBR4A & RIS £ #R AT 110 6 440 399 0 40 1 153 124 0 29 0 287 275 0 11 1 90.7 0.0 9.1 0.2 81.0 0.0 19.0 0.0 95.8 0.0 38 0.3
28| iR == B/ Al #BAT 74 5 320 320 0 0 0 121 121 0 0 0 199 199 0 0 0 100.0 0.0 00 0.0 100.0 0.0 00 0.0 100.0 0.0 00 0.0




